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Z2=Standard Form

Write the following numbers in standard rorm.

(a) 40000
(b) 5600

(¢} 41200000
(d) 0.00000008

(e) 0.000345

2. Write 37341000000 in standard fnﬁﬁ.j-l -

3. Wirite G.GDDUGUDDUQUG{IQ in standard form.

4. Asma was asked to compare the following two numbers.

b A=6212x10° and B=4.73 x 10°
- She says,
C 8.21210s bigger than 4.73 so A is bigger than 8.”

' Is Asma correct?
You must give a reason for your answer,
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5. Z[ 53 izthesameas% }

Prove that Amir is incorrect,

6. a) How would 5 200 be written in standard form?

b) How would 52 000 be written in standard forﬁf?

€} Write 5.2 x 108 as an nrdin_arg.__t_m_mbér.
d) write 4.07 x 1072 a.s.'énﬁ;_:::fﬁi:nary number

7. (a) A smentast wntes the number 760 000 000 in standard form.

Draw a I'IT'IQ arcrund the correct answer.

?a <107 76x107  76x108  76x10°

i :('b).-"llhe scientist measures the width of a human hair as 0.000 046 m.
Write this number in standard form.
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8. Dexter is comparing numbers in standard form.

5 x 104 is greater
than 6.7 x 10°
w

Do you agree with Dexter?

Explain your answer.

9.  Write >, < or = to complete the statements.

A

a) 6.5 % 103 6.5 x 10 6){1.7.4 109 O 1.70 % 10°

BTG R >\ iig Y

1, Sl s
=y SR

10. Dora is also campaﬂpg:i:_ﬁﬂ'r{':bers in standard form.

77 V3% 102 Is greater
0 thanax 107

Do you agree with Dora?

~Explain your answer.
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14. Fillin the blanks.

]
103 x 108 =10 % 10°

U

105%4 = 10%x 10

12. Find, in standard form, the value of (3 x 102) x (5 x 10%),. B

13. Which of these has the greatest value? Circle j;rﬁﬁf answer.

5.15x 104  61.499 6.2x108

14. Circle the number written in sfénd_aird form,
0.5 % 10 5 x 1058, 50 x 104

15, The wIdtH of a hait is approximately 0.000018 m

Whitney writes this in standard form as 18 x 107°
Whitney is wrong.

. WWrite the width of a hair correctly in standard form.

61.6 x 103
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16. The table shows the approximate populations of four countries.

Country Population
China 1.4 % 10°
lceland 3.4 x 10°

UK 6.8 x 107
USA 3,3 x 109

Which country has the smallest population?

Write the population of the UK as an ordinary number.

17. a} The distance from Earth to Mars is abbl._lt 66.3 million km,
Write 66.3 million km in standard form.

b} The distance from Earth to Pluto is about 5.12 billion k.

c) Write 5.12 billion km in standard form.

18. - Tick (v') to show which of these expressions is the number 87 000 000
written in standard form.

870 x 10° 87 x 10° 8.7 x 107 0.87 % 10°

Scora ANNUMmbersYeard 11



19. Solve the equations.

a) 106 x b=1010

b) 1p0¢=108

¢) 104 xc=1012

6
d) 100=10"_
d
6
e) 10 —103
e
6
n 1 _qg
f

20. Fill in the boxes to complete the statements.

a) 10 =10x10

5y 10¢ =10%10 x:)

¢) 10% % 10* = 10

d) 103x10 = 10°
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